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APPENDIX

Some of the integrals used frequently throught
the thesis are given below. They are evaluated using
standard integral techniques (Grandshteyn and Ryzhik
1965 ).
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Here Bl=g~'b"l H 32.—._13_-22

The detailed calculations for I,(b , B, zl)
and 12(b » By» zl) are given by Byron et al.

The integral I, B;,B, (zp-2;) ] will be obtained
by putting b = B 5 By =By and z; = (22~zl)
in I,(b, B, z,).

The integral 12 [Bl, B2£z2—zli} will be
obtained by putting b =8, 3 B; = p, and zl=(22—zl)

in Iy(b. By, z;)-

(F) In the fifth chapter for the calculation of

X » the integrals are of the following type.
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The solutién of the this integral can be obtained as
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